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cl k=0

reset =0

VR 0

wr_enb_0=1

wr_adr_0[ 0: 5] =06

wr_dat _0[ 0: 71] =BOFF93A957288F3F00
RD 0

rd_enb_0=1

rd_adr_0[ 0: 5] =00

rd_dat _0[ 0: 71] =XXXXXXXXXXXXXXXXXX
RD 1

rd_enb_1=1

rd_adr_1[ 0: 5] =00

rd_dat_1[0: 71] =2148AE2727MEET8FD
RA

rd_enb_0_g=1 _ 1 1 1 1 | 1 [ 1 1 LTI 1
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rd_dat _0_g[ 0: 71] =XXXXXXXXXXXXXXXXXX

rd_enb_1_q=0 o 17 1 1 1 1 L [ 1 1

rd_adr_1_q[ 0: 5] =00
rd_dat_1_q[0: 71] =2148AE2727AAEET8FD
w_enb_0_g=1

wr_adr_0_g[ 0: 5] =05

wr_dat _0_q[ 0: 71] =1C7400D59291FF9CB8
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q[ 0: 23] =A08948
q[ 0: 23] =A58F73
q[ 0: 23] =30F8F7 TETSTR YETEFOF




